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OBH-180400
18~40GHz Broadband Horn Antenna
Technical Specification
Polarization Linear
Frequency Range(GHz) 18-40
Gain(dBi) 14-18
Power Handling Capability(W) 10
VSWR 2:1 Typ.
Connector K- Female
Size(mm) 32x27x72
Net Weight(Kg) 0.075 Around
Outline Drawing (Size: mm)
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OBH-180400
18~40GHz Broadband Horn Antenna

Test Results

1. Gain
F
reQUeNCY | 180 | 200 | 22.0 | 24.0 | 26.0 | 28.0 | 30.0 | 32.0 | 34.0 | 36.0 | 38.0 | 40.0
Range(GHz)
Gain(dBi) | 15.25 | 14.22 | 16.85 | 14.21 | 18.25 | 16.93 | 16.62 | 16.97 | 17.49 | 17.97 | 17.24 | 18.69
2. VSWR
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OBH-180400

18~40GHz Broadband Horn Antenna
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OBH-180400
18~40GHz Broadband Horn Antenna
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